TOEFL Reading Comprehension


SESSION 9

Line question
The word…X… in line closet meaning to….. Then refer to the line numbers and paragraph numbers in the answer choices to  find the similiar meaning..
Similar meaning 

The meaning of the sentences or the words by reading the surrounding text. You will not be asked to define vocabulary that uncommon, subject related, and cannot be understood in the context. 

For each question you will see an incomplete sentence. Four words or phrases, marked A-D are given beneath each sentence. You are to choose the one word or phrase that best completes the sentence.
Read the passage and choose the option that best answer each question. 

Since the world has become industrialized, there has been an increase in the number of animal species that have either become extinct or have neared extinction. Bengal tigers, for instance, which once roamed the jungles in vast numbers, now number only about 2,300, and by 5 the year 2025 their population is estimated to be down to zero. What is alarming about the case of the Bengal tiger is that this extinction will have been caused almost entirely by poachers who, according to some sources, are not interested in material gain but in personal gratification. This is an example of the callousness that is part 10 of what is causing the problem of extinction. Animals like the Bengal tiger, as well as other endangered species, are a valuable part of the world's ecosystem. International laws protecting these animals must be enacted to ensure their survival, and the survival of our planet.
15 Countries around the world have begun to deal with the problem in various ways. Some countries, in order to circumvent the problem, have allocated large amounts of land to animal reserves. They then charge admission to help defray the costs of maintaining the parks, 20 and they often must also depend on world organizations for support. With the money they get, they can invest in equipment and patrols to protect the animals. Another solution that is an attempt to stem the tide of animal extinction is an international boycott of products made from endangered species. This seems fairly effective, but it 25 will not, by itself, prevent animals from being hunted and killed.

Questions

1. What is the main topic of the passage?

 A. the Bengal tiger 

 B. international boycotts 

 C. endangered species 

 D. problems with industrialization 

2. Which of the following is closest in meaning to the word "alarming" in line 6?

 A. dangerous 

 B. serious 

 C. gripping 

 D. distressing 

3. Which of the following could best replace the word "case" as used in line 6?

 A. act 

 B. situation 

 C. contrast 

 D. trade 

4. The word "poachers" as used in line 7 could be best replaced by which of the following?

 A. illegal hunters 

 B. enterprising researchers 

 C. concerned scientists 

 D. trained hunters 

5. The word "callousness" in line 9 could best be replaced by which of the following?

 A. indirectness 

 B. independence 

 C. incompetence 

 D. insensitivity 

6. The above passage is divided into two paragraphs in order to contrast

 A. a problem and a solution 

 B. a statement and an illustration 

 C. a comparison and a contrast 

 D. specific and general information 

7. What does the word "this" refer to in line 9?

 A. endangered species that are increasing 

 B. Bengal tigers that are decreasing 

 C. poachers who seek personal gratification 

 D. sources that may not be accurate 

8. Where in the passage does the author discuss a cause of extinction?

 A. Since the world . . . down to zero. 

 B. What is alarming . . . personal gratification. 

 C. Country around . . . for support. 

 D. With the money . . . dangered species. 

9. Which of the following could best replace the word "allocated" in line 17?

 A. set aside 

 B. combined 

 C. organized 

 D. taken off 

10. The word "defray" in line 19 is closest in meaning to which of the following?

 A. lower 

 B. raise 

 C. make a payment on 

 D. make an investment toward 

11. The author uses the phrase "stem the tide" in line 22-23 to mean

 A. touch 

 B. stop 

 C. tax 

 D. save 

12. Which of the following best describes the author's attitude?

 A. forgiving 

 B. concerned 

 C. vindictive 

 D. surprised  
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 If by "suburb" is meant an urban margin that grows more rapidly than its already developed interior, the process of suburbanization began during the emergence of the industrial city in the second quarter of the nineteenth century. Before that period the city was a small highly compact cluster in which people moved about on foot and goods were conveyed by horse and cart. But the early factories built in the 1830's and 1840's were located along waterways and near railheads at the edges of cities, and housing was needed for the thousands of people drawn by the prospect of employment. In time, the factories were surrounded by proliferating mill towns of apartments and row houses that abutted the older, main cities. As a defense against this encroachment and to enlarge their tax bases, the cities appropriated their industrial neighbors. In 1854, for example, the city of Philadelphia annexed most of Philadelphia County. Similar municipal maneuvers took place in Chicago and in New York Indeed, most great cities of the United States achieved such status only by incorporating the communities along their borders.

            With the acceleration of industrial growth came acute urban crowding and accompanying social stress conditions that began to approach disastrous proportions when, in 1888, the first commercially successful electric traction line was developed. Within a few years the horse - drawn trolleys were retired and electric streetcar networks crisscrossed and connected every major urban area, fostering a wave of suburbanization that transformed the compact industrial city into a dispersed metropolis. This first phase of mass - scale suburbanization was reinforced by the simultaneous emergence of the urban Middle class whose desires for homeownership In neighborhoods far from the aging inner city were satisfied by the developers of single-family housing tracts.

1. Which of the following is the best title for the passage?

(A) The growth of Philadelphia 
(B) The Origin of the Suburb

(C) The Development of City Transportation
(D) The Rise of the Urban Middle Class

2. The author mentions that areas bordering the cities have grown during periods of

(A) industrialization

(B) inflation

(C) revitalization

(D) unionization

3. In line 10 the word "encroachment" refers to which of the following?

(A) The smell of the factories
(B) The growth of mill towns

(C) The development of waterways
(D) The loss of jobs

4. Which of the following was NOT mentioned in the passage as a factor in nineteenth-century suburbanization?

(A) Cheaper housing

(B) Urban crowding

(C) The advent of an urban middle class 
(D) The invention of the electric streetcar

5. It can be inferred from the passage that after 1890 most people traveled around cities by

(A) automobile

(B) cart

(C) horse-draw trolley

(D) electric streetcar

6. Where in the passage does the author describe the cities as they were prior to suburbanization.

(A) Lines 3-5 

(B) Lines 5-9 

(C) Lines 12- 13

(D) Lines 15-18

          The first English attempts to colonize North America were controlled by individuals rather than companies. Sir Humphrey Gilbert was the first Englishman to send colonists to the New World. His initial expedition, which sailed in 1578 with a patent granted by Queen Elizabeth was defeated by the Spanish. A second attempt ended in disaster in 1583, when Gilbert and his

ship were lost in a storm. In the following year, Gilbert's half brother, Sir Water Raleigh, having obtained a renewal of the patent, sponsored an expedition that explored the coast of the region that he named "Virginia." Under Raleigh's direction efforts were then made to establish a colony on Roanoke island in 1585 an6 1587. The survivors of the first settlement on Roanoke returned to England in 1586, but the second group of colonists disappeared without leaving a trace. The failure of the Gilbert and Raleigh ventures made it clear that the tasks they had undertaken were too big for any one colonizer. Within a short time the trading company had supplanted the individual promoter of colonization.

1. Which of the following would be the most appropriate title for the passage?

(A) The Regulation of Trading Companies

(B) British - Spanish Rivalry in the New World

(C) Early Attempts at Colonizing North America

(D) Royal Patents Issued in the 16th Century

2. The passage states which of the following about the first English people to be involved in establishing colonies in North America?

(A) They were requested to do so by Queen Elizabeth.

(B) They were members of large trading companies.

(C) They were immediately successful.

(D) They were acting on their own.

3. According to the passage, which of the following statements about Sir Humphrey Gilbert is true? 

(A) He never settled in North America.

(B) His trading company was given a patent by the queen.

(C) He fought the Spanish twice.

(D) He died in 1587.

4. When did Sir Walter Raleigh's initial expedition set out for North America?

(A) 1577
(B) 1579
(C) 1582
(D) 1584

5. Which of the following can be inferred from the passage about members of the first Roanoke settlement?

(A) They explored the entire coastal region.
(B) Some did not survive.

(C) They named the area "Virginia". 
(D) Most were not experienced sailors.

6. According to the passage, the first English settlement on Roanoke Island was established in

(A) 1578
(B) 1583
(C) 1585
(D) 1587

7. According to the passage, which of; the following statements about the second settlement on Roanoke Island is true?

(A) Its settlers all gave up and returned to England.

(B) It lasted for several years.

(C) The fate of its inhabitants is unknown.

(D) It was conquered by the Spanish.

          With its radiant color and plantlike shape, the sea anemone looks more like a flower than an animal. More specifically, the sea anemone is formed quite like the flower for which it is named, with a body like a stem and tentacles like petals in brilliant shades of blue, green, pink, and red Its diameter varies from about six millimeters in some species to more than ninety centimeters in the giant varieties of Australia. Like corals, hydras, and jellyfish, sea anemones are coelenterates. They can move slowly, but more often they attach the lower part of their cylindrical bodies to rocks, shells, or wharf pilings. The upper end of the sea anemone has a mouth surrounded by tentacles that the animal uses to capture its food. Stinging cells in the tentacles throw out tiny poison threads that paralyze other small sea animals. The tentacles then drag this prey into the sea anemone's mouth. The food is digested in the large inner body cavity. When disturbed a sea anemone retracts its tentacles and shortens its body so that it resembles a lump on a rock. Anemones may reproduce by forming eggs, dividing in half or developing buds that grow and break off as independent animals.

1. The word "shape" in line 1 is closest in meaning to which of the following?

(A) Length
(B) Grace
(C) Form
(D) Nature

2. According to the passage, which of the following statements is NOT true of sea anemones?

(A) They are usually tiny.

(B) They have flexible bodies.

(C) They are related to jellyfish.
(D) They are usually brightly colored.

3. It can be inferred from the passage that sea anemones are usually found

(A) attached to stationary surfaces
              (B) hidden inside cylindrical objects

(C) floating among underwater flowers
(D) chasing prey around wharf pilings

4. The word "capture" in line 8 is closest in meaning to which of the following ?

(A) Catch
(B) Control
(C) Cover
(D) Clean

5. The word "disturbed" in line 11 is closest in meaning to which of the following?

(A) Bothered
(B) Hungry
(C) Tired
(D) Sick

6. The sea anemone reproduces by

(A) budding only


(B) forming eggs only

(C) budding or dividing only
(D) budding, forming eggs, or dividing

7. Where does the author mention the sea anemone's food - gathering technique

(A) Lines 1-2

(B) Lines 4-6

(C) Lines 7-10
(D) Lines 11-13
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